Unit 7 Coordinate Geometry

Sr. o
w.| Questions A B C D
The equation of a straight
1 | line in the slope-intercept | y =m(x+¢) Y=y =m(x—x) y=c+ mxvy ax+by+c=0
form is written as:
The gradients of two parallel r?egatlve always
2 | equalv zero reciprocals of i
lines are: undefined
each other
If the product of the
3 | gradients of two lines is —1, parallel perpendicularv collinear coincident
then the lines are:
Distance between two points
4 | P(1,2) and Q(4,6) is: A 6 V13 .
The midpoint of a line
5 | segment with endpoints (4,2) (2,2) v (1,2) (0,0)
(—=2,4) and (6, —2) is:
A line passing through points
= v — = — =
6 (1,2) and (4,5) is: y=x+1 y=2x+3 y=3x—2 y=x+2
7 Th_e equataT Of 2 e To y =m(x+c) y—y; =mx—x)v y=c+ mx ax+by+c=0
point-slope form is:
2x+3y—6=0 i th - 2 2 —2
8 d - © y=—=x+2/ =—x—2 —x+1 =—x—2
Y=y =mx—x) )
: : . 7 — = —
10 The equatlorm of a line in e _+X: i =% F—Wi xcosa.;‘j/,sma_
normal form is: a b cosa sina
Solution of MCQs
1 | Slope-Intercept Formis y = ¢ + mx Also written as y = mx + c.
2 | Parallel lines have equal slopes.
3 | Perpendicular lines: product of slopes = —1
Distance between P(1,2) and Q(4,6)
IPQ| = v/ (xz — %)% + (2 — ¥1)?
=4 - 12+ (6 - 2)?
4

= B2+ @7
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Midpoint of (—2,4) and (6, —2):
X1tx; y1t+y2
M= (12 222)
(x,y) > >
5 f—2+8 2% (-2)
B 2 7 32
_ (4 2)
- RZ3
=(21)
Slope of line from (1,2) to (4,5):
_ V2—MWM1
X2 — X1
_ 5-2
e
3
6 =3
m=1
Now Point Slope Form
y—y1=mx—x1)
y—2=1(x—1)
y=x—1+4+2
y=x+1
~ Equation of a line in point-slope form is
Y=y =mx—x)
2x+3y—6=0
= 3y=—-2x+6
—2x+6

Muhammad Tayyab (@%Christian Daskaq)

2
e
9 1:3’. }’1:r
cosa sina
10 xcosa +ysina =P
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